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1.7 2 A A A A AL F 2,034 0 2,034
APA)FSAFAE FAALRES
1. 92 Rz 2,034 0 2,034( ARG edE SaAdREy 2,034,000
2,034,000¢) X 1d=
2. &R EE 3 Aol M4 561,081 528,510 32,571
1. S S ARG =T 561,081 528,510| 32,571
1.8 u 3| AAYF 561,081 528,510 32,571
1.3 uedu g+ 191,623 191,623 0
AHAIANAE D 2w <
2. BAAIH A Y F 369,458| 336,887 32,571( DA el |+ (13,846,000 2,596,000
X 1) - 11,250,000° =
E3 A 4] =) ) -
&3t 2~ @-odn] © (20,634,0009 X 1xl) 730,000
21,364,000
A ZFA 3 A} 14| ©
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1) - 125,116,0009 =
o o} &kn] x| L= o 3
2016. frolshul A s © (134,906,3108 X 1aL 95,205,000
) - 109,702,000 =
ES S X 5298] ¢ (4,500,0009
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s =300, 000
X 131) - 4800000 =
(A A F2E Ahu] @ (2,034,000 339,000
X 1al) - 1,695,0009 =
(ARFA)XEAR A¢u] 0 (1,100,0609 < 1 184,000
) - 917,0009 =
el A 7FA| A Ad Q
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R R AR A RS RO
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1,247,540 X 1al =
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2. YA D45 1,741 1,740 1
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1.7/t 3 559 841 840 1|39 ¢ 841,0009-840,000¢)= 1,000
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1.2 B2 u] 1,400 1,400 0
|/ %A E 3 A 299,372 267,350 32,022
71,441 64,244 7,197
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L3 A=Y 27,568 27,568 0
132 &2 A & 27,568 27,568 0
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1.8k 81| 7,450 7,450 0
2. 48R 900 900 0
3.8 4,100 4,100 0
3. 927 E3 3,892 3,892 0
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Lokt - (A€ +) 37,514] 40,380  -2,866
171744 9912w 13,024) 15,890  -2,866 ‘;‘f fiﬁ;g?ﬁﬂ] (1,203,509 <24 -1,433,000
?{jio}(_)oaog:dﬁﬂ] (1,108,500 <24 ~1.433.000
2. &9 1,819 1,819 0
3. a9 H] 22,671 22,671 0
iﬂﬁ%ﬂ*—l%%‘ﬂé%% 0 0 0
2. 57NAR S (A L) 18,253 18,253 0
1959 12,800/ 12,800 0
2. g 5,453 5,453 0
3. IF A AN (54) 128,763 128,963 -200
1712 A LY A w] 117,901 118,101 -200 f}gfg; Fééﬂjfﬁcﬂﬁﬂ] 105,774,0008 ~200,000
2. FFFHAMN 700 700 0
SAMARAUATT 15 169) 10,162 0
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6.%3%% SAstZRZa(LA) 9,172 9,172 0
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1. 05 gH| 700 700 0
6. B A5 e 1,000 1,000 0
1.+9s9 1,000 1,000 0
2. QA £ 2,220 2,220 0
1.8 oA s 2,220 2,220 0
1.9HA S 2,220 2,220 0
1. 05890 2,220 2,220 0
3.8 594 &9 2,460 2,460 0
1R 3d 2,460 2,460 0
1.3 w4 nsA 9 2,460 2,460 0
1. 0589 2,460 2,460 0
LSl A 7,551 7,551 0
1. 05374 )4 7,551 7,551 0
1,754 5+ 5,524 5,524 0
1.HF 4] 5,524 5,524 0
2. 2239AX 2,027 2,027 0
1.HF 4] 2,027 2,027 0
JShal ke 116,468 115,777 691
1.8 w713 &9 26,081 25,461 620
15471289 25,437 24,817 620
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1AW 510 3,140 2,520 620 | 2 Q¥ ZA] 150,00099-300,0009 = -150,000
AAAZFIH] (470,0009 X53]) - 770,000
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3.09H] 3,000 3,000 0
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H| -7 87,372 36,256 1,116
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2§ 22,584 22,584 0
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ENTAnE-Vr]t o] )
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2 % LA —
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9=
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1,914 1,914 0
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A1 2] Al A 7] )
1. 71314 2 49171 9] 11,420 9,000 2,420 (g detel el 2,020,000
-8,000,000¢=
ABAHEDHEAEE Az 400,000
-1,000,000¢=
(AF)71Er Aldae] 9]
Auk=u 2,025 1,250 775 775,000
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